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Linear Inequalities and Solutions Answers

Section I. Graph the inequality on the coordinate plane. Determine if the given point is a
solution to the inequality.
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Section II. Use Algebra to determine if the coordinate is a solution to the inequality.

5. y>-5x—4 (9,-24) 6. y<zx—6 (10, 2)
—24 > —-5(9) —4 true itis a solution 2 < 2(10) — 6  false not asolution
7. y<‘—"+7 (12, —5) 8. y=4x—3 (—1,—-13)
—-5<—= (12) + 7  true, itis a solution —13 >4(—=1)—3 false, not a solution
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Section III. Graph the inequalities on the coordinate plane. Determine if the given point is

a solution to the linear system.

9. y>§x—4 (-1,-1)
R\ : o
N L y>>x-4 /
2 /
A /,
T K /
£ 4
) /|
3 7/
Al /
/7
+ /
L /
1 1 1 1 1 1 1 1 1 1 II/ 1 1 1 1 L
T T T T T T T ‘ 1 | l/'| T T T T T
-10 AL S 10
T7
¥
=/
B | ~
AN ™~
///. + P =3xS
A i
// -iG |
¥ 4
11. yS§x+6 (3,7)
—5x + 2y > —14
y
<! +6
y - 3x
///
&~
-10 )

10. y<2x+3 (-2,-1)
X
A 2
y<2x+3 "
1y
/
T T4
.
3 /
ST
— 1/
(=2, =1) /1
not a solution // i
T e e e e
B -~ . il -
10Tk A T T 3
ST
/ ~L
74 I< 0
/ =J \\.~\
///. 1 [\ S 5
// :: X
! d04 st
¥
12. 4x—-y>-—-1 (2,-3)
3x—2y=>8
y
10 f /
L
/
T
L
!
+
-
/ / 3x-2y 2 8

S
—~—

A

& KidSmartEducation.com
i3

YOUR PERSONAL LINK TO SUCCESS



	Linear Inequalities and Solutions   Answers

